07 T80y wOphAB)D iyl DYy
220 O 7o Frofuvey YL -

.
RN

AL T PR ARITANE ik o

1M SINDOD0 wp2pr A R0 PAPST /Py
P2 1% PV R a"each 201704 Y PyF o

’ ’
1) 75T LI S)CGEr s 2 Y4 S PT oyl T2Y N oL ) ETS
4 v s oy puPs f421n PP, —

. G

B A 2ETON
FE

v
B

f
.
3
\u
“
1Y
o
by

Iy \.
ArOIDY P YyI OF Ty ErT .

XS °F 5 9728 3V
XYYl )Y byey sipdo 49914 NLSd \t\:w#w
v Jon0 pup {2f-2y3- - FIUSY2 PUY (Yo 1rts Y1V
AP M34Y L 4 ro402 U P yp op umop H\\\\\.C» or? M.Nw ﬁ\ecn\b\%*mv
9219 T op sy Spdy Y Dy o of prelrrR £12T) FIPHIAYS ~
AYP 1L 2] § 97 )

skemaied

a3puqhyS usamiaq yuij ney
Suoj ondo 1aqly =

RS RP T

——

, aales adpuqhys o
| syuy Aemayed a8puqyg =~~~

z Kemoaren) a3puqhys = 7§

1 Aemoren a3puqhys = IS

7 Tequinu Jasn puy = i

sajjiales agpuqhis e @0 O ‘d
[ Jaqunu JIsn pusy =

mEB?ﬁm adpuqhys
—

(umoys jou syurj joRUO)))
syred S O1S9paAL = vt

7 Joqunu 13sn pug = g
saj[[ares aIsapaeL e @ D ‘9
, | Jaqunu Iasn puy = Y
:wId)SAG JISIPIP L v




S = satellite

U = user

C = Center of earth

UC =DC = radius of earth =
6378.137 km

SD = satellite height = [ 400 km
Angle SUC = 130° (minimum
elevation angle of 40° + 90°)

US = longest path
SC=SD+DC=7,778.137 km
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S = satellite

U = user

C = Center of earth

UC =DC = radius of earth =
6378.137 km

SD = satellite height = 1,400 km
Angle SUC = 130° (minimum
elevation angle of 40° + 90°)
US = longest path
SC=SD+DC=17773.137 km
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